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20118 =4 2 3] Lot A S AH DI ~ 3 A D
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Mu: A B HE L BF A
9l mel 9] A% HEE AP Hel (el m2)
SN BB O9(B) - MEAY - HES 01l &t o I1E o HIDS2
S| Hl 6,560,087 6,605,267 A45,180
= 33,800 33,800 0
Al 6,526,287 6,571,467 A45,180
A= MEE Y 2 38 XS 542,656 583,836 A41,180
o= 33,800 33,800 0
Al 508,856 550,036 A41,180
ZHO! Q1) AL HESH SIHHER Ml 235,717 242,897 AT7,180
SA2)|3|HMHE = 40,000 47,180 AT7,180
101 21 21d| 0 7,180 AT7,180
04 D12t 22 REE% 0 7,180 AT7,180
[ THRSHZ A & TIIMREY XA BEX 0 7,180 AT7,180
O JleEs 28 0 0 5,190 A5,190
O =54 28 0 0 692 AB92
O AZt284¢E 28 02 0 1,298 1,298
= SRMAMYEESCSUHLTHEES 306,939 340,939 234,000
= 33,800 33,800 0
Al 273,139 307,139 234,000
Al S THAR2EE] 228,851 262,851 234,000
201 Bt AHH| 175,000 209,000 234,000
02 222494| 175,000 209,000 234,000
0222 2 HA 175,000 209,000 234,000
O Mols+ Z2H&d| 76,000 110,000 A34,000
A2 2 AIEE MHoHEFR a3 76,000,000 76,000 110,000 A34,000
S 2253 XM 5,489,671 5,493,671 A4,000
SEHOl HAF & X 22 5,489,671 5,493,671 A4,000
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